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< 678,755
Al 12,797,553
AR HUS 13,969,571 17,169,337 A 3,199,766
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< 678,755
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HsEAE 29 9,508,532 12,822,402 A 3,313,870
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Al 8,578,532
HEAE 29 2,816,271 3,025,076 A 208,805
309 HE3 2,368,595 2,229,906 138,689
01 SAL- SHILNHES 2,368,595 2,229,906 138,689
OAg2elsH 2,368,595
404 SASHEZEES 447,676 795,170 A 347,494
01 SAt- SHGEEE= 447,676 795,170 A 347,494
OAgzelsH 447,676
HsAE 2el 987,261 880, 326 106,935
101 @124 dl 209,453 199,738 9,715
4 JI2ZHHZ2XREES 209,453 199,738 9,715
Osgs M3 2l 209,453
—Jlas 73,2803 *80 30 175,872
— == 73,280 12330 26,381
— ZHAH| 3,000 *80 +30H 7,200
201 €24 30,440 34,720 A 4,280
01 At 22l 6,000 6,000 0
ogxtz 6,000
—HSA8 (4 42S) 6,000
02 =224l 24,440 13,720 10,720
O332= % HAl 12,440
—LALYEX SALS SEB
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—LYUEX SALSs 08
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—S¥HE MSANE 2223 7,000
—LALEX SALS HIANER
60,000& 123 720
— S ¥ BEE 1,000
OXte & Byl 2,000
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201 L2l 3,000 3,000 0
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307 glz2+ol & 12,000 12,000 0
04 QIZFHALAIH B = 12,000 12,000 0
OHMSselo & A XI& 7,000
OMSQ ALs HRHS 5,000
318018 dd3d=U3 20,000 20,000 0
307 212+0| & 20,000 20,000 0
04 DIZFBHAIAIRI 2 = 20,000 20,000 0
O3.1827|18 &3 U3l 20,000
TS e 196,000 196,000 0
307 21201 A 196,000 196,000 0
02 HAFHAANGFEE 196,000 196,000 0
O H=s tal &It 196,000
A QI g R =13 35,000 35,000 0
307 Qiz2tol & 35,000 35,000 0
04 DIZHHALALSE E X 35,000 35,000 0
OAlI 8 X=CHa 35,000
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307 gl2tol & 12,000 10,000 2,000
04 DIZHHALALSE E X 12,000 10,000 2,000
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307 glz2tol & 40,000 40,000 0
04 DIZHSHALAIRI 2 = 40,000 40,000 0
O&=80H 23 40,000
o= is 30,000 30,000 0
307 eIzl & 30,000 30,000 0
04 QIZbBHAIAIRI 2 = 30,000 30,000 0
OZLAZEI EINZUS 30,000
dI=gd & 15,000 0 15,000
307 21201 A 15,000 0 15,000
04 DIZHEHAFA I 2 X 15,000 0 15,000
O&dXlze E NF & s 15,000
HE2LAZH(MSEHED) 90,045 160,243 AT70,198
el 2l 37,935 108,717 270,782
ol 2| 37,935 108,717 AT0,782
101 @14 ] 37,935 108,717 AT0,782
03 BRE(RIAHA)2Z2RHE > 37,935 108,717 270,782
OMsdgAE =X 37,935
—Jles 2,279,260 x 128 x1H 27,352
—ARHEAFE 150,000& 128 »1H 1,800
—2d3EdsE 43,3903 x12& «1H 521
— HE S0l 1,367,550& 22 x1H 2,736
— A2bel=E 10,1702 »1.5x20A1 2t x12@ x1H 3,662
— X< 81,3603 x 17«1 1,384
—JIEE 40,0003 x12& «1H 480
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01 At 22l 16,656 17,952 A 1,296
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01 = LH o4 1l 32,454 29,974 2,480
O =L bi 32,454
203 YR =] 3,000 3,600 A 600
04 EAS2IYRFLH| 3,000 3,600 A 600
ORN2Y gR=2 3,000




